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SECTION - A (Marks 06)
Time allowed: 10 Minutes

Fill the relevant bubble against each question: UL fetend oz L,
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1. |OT stands for: O Devices O Triangles O Trees O Things
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Which of the following OS is open

2. source? O Linux O Windows O MS Dos O i0S
?'gosumcf,nosvufc_waia» wa Jsks BRI FindT
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4. y language O guage O anguage O anguage O anguage
VY .‘ngi&-’l J_L/Jd‘l Ji’(ﬁ U)—/ JU‘

Which of the following functions is

5. usedtotake input from user? Sprint() Printf() Scanf() Take()
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controls/filters network traffic. Antivirus Firewall Wireshark Windows
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Total Marks Sections B and C: 24

NOTE: Answer any seven parts from Section
provided answer book. Use supplementary answer s

neatly and legibly.

‘B’ and any two questions from Section ‘C’ on the separately
heet i.e. Sheet-B if required. Write your answers

SECTION — B (Marks 14)
Q.2 Answer any SEVEN parts. Be brief and to the point. All parts carry equal marks.

(i) ' Enlist some applications of IOT.

(i) What are the functions of an operating system?

iii) What is the purpose of device manager in Windows?

(iv) What is meant by computer network?

(v) What is the difference between a debugger and a compiler?
(vi) What is the syntax of swifch statement?

(vii) What is loop in C language?

(viij  Compare confidentiality and integrity.

(ix) What are the main components of an email?

x) Differentiate between computer security and cyber security.

SECTION - C (Marks 10)

Note: Attempt any TWO question. All questions carry equal marks.

Q.3  Explain different components of an 10T systen'i.
Q.4 Make a comparison between the OSI model and TCP/IP suite. -

Q.5 Explain program development life cycle.
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